MTH 266, Quiz #6, Spring 2019 Name ‘l<

'

work with a calculator, but answers without work will receive minim

al credit. Use exact answers unless
d.

Instructions: You must $how all work to receive full credit for the prEbIems below. You may check your

the problem starts with decimals or you are specifically asked to rou
i
1. Calculate the determinant below using row operations.
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2. Ifdet(A) = 5,det(B) = —2,det(C) = 0, use properties of dﬁterminant to find the following (if

possible). Each matrix is 4 X 4.

a. det(4B) :“IO
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X1 +3x,=5

Use Cramer’s rule to solve the system {
1 X1+ Xy =—4

AR 1Y 3] =13
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